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PINEE: CIN; i CIN; ik

(1 BE¥%KE] 32,170 (m) |[1 B 55K E] 58,269 (m) |[1B8F#HiFKE] 9,089 (m)

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k

TUFEVRUEDIEEY <0.0010  <0.0010  <0.0010 6 <0.0002 1 <0.0002 1
5V RUEDIEEY <00002 <0.0002  <0.0002 6 <0.0002 1 <0.0002 1
ZITWRUZDIEEY <0.001 <0.001 <0.001 6 <0.001 1 <0.001 1
1,2—9bOnIsy <0.0004  <0.0004  <0.0004 6 <0.0004 1 <0.0004 1
LIV <0020  <0.020 <0.020 6 <0.001 1 <0.001 1
TRIVEES 2—IFIAFVIL) <0.005 1 <0.005 1 <0.005 1
HiIE R <0.06 <0.06 <0.06 6
ZEbiesk <0.06 1
yhnaye k=L <0.001 1 <0.001 1 <0.001 1
k05— <0.001 1 <0.001 1 <0.001 1
BEE <1.00 1
BREIEHR 1.1 08 09 365 06 1 05 1
picd 3o 2.3 1 2.9 1 6.7 1
1,1,1—kJoonIsY <0.001 <0.001 <0.001 6 <0.001 1 <0.001 1
AFI—t—TFII—FI(MTBE) <0002  <0.002 <0.002 6 <0.001 1 <0.001 1
BRMEGRIVI VBN LEER) 18 1 0.8 1 0.7 1
R5GAE (TON) <1 1 1 1 1 1
EREGYTUTIEER) -1.7 -25 22 6 -28 1 -1.9 1
HEXEMRR 0 0 0 6 0 1 0 1
1,1—ybonIFlby <00010  <0.0010  <0.0010 6 <0.0020 1 <0.0020 1
JKiE (°C) 15.7 20 8.0 365 18.9 15 9.2 12 19.6 36 10.4 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS)
BRI R
LEHR
DV
VIBRAAY
RUNOAS D BRE
£ (n/ml)
PIHIE 31.0 16.9 215 130 15.4 97 134 12 359 294 331 12
BEEFR
il S 9.7 7.3 8.4 6
BT
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PINEE: CIN; i PINEE:

(1 BE¥%KE] 9,034 (m) |[1BF9%KE] 38,510 (m) |[1BFHiFEKE] 21,530(m)

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0003 1 <0.0003  <0.0003 <0.0003 2
DIVRUEDILEY <0.0002 1 <0.0002  <0.0002 <0.0002 2
2TV RUEDIEEY <0.001 1 <0.001 <0.001 <0.001 2
1,2—9bOnIsy <0.0004 1 <0.0004  <0.0004  <0.0004 2
LIV <0.001 1 <0.001 <0.001 <0.001 2
TRIVEES 2—IFIAFVIL) <0.005 1 <0.005 <0.005 <0.005 2
HIERE <0.06 1 <0.06 <0.06 <0.06 12
ZEbiesk <0.06 1
Jhoo7e b= bk <0.001 1 <0.001 <0.001 <0.001 2
#kHo5-Ib <0.001 1 <0.001 <0.001 <0.001 2
BEE 0.00 0.00 0.00 2
RRIER 0.8 0.6 0.7 365 0.4 03 03 365 0.6 0.6 0.6 2
picd 3o 2.6 1 7.7 38 6.0 4
1,1,1—M)HonIaY <0.001 1 <0.030 <0.030 <0.030 2
AFI—t—TFII—TIL(MTBE) <0.001 1 <0.001 <0.001 <0.001 2
BRMEGRIVI VBN LEER) 0.6 1 1.0 0.8 0.9 2
R5GAE (TON) <1 1 <1 <1 <1 2
EREGYTUTIEER) -2.7 1 -25 -2.7 -26 2
HEXEMRR 0 1 1 0 0 12
1,1—ybonIFlby <0.0010 1 <00010  <0.0010  <0.0010 2
JKiE (°C) 9.2 34 6.0 365 17.1 1.7 8.1 365 11.5 26 75 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEHMRUV)IR S FE(50mm )L A FREF)
FAEME(SS)
(o3 gkd i 3040
L2ER
DV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
FIVHVE 50.9 20.2 324 365
BEBR
il S
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